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Criteris de correcció  Tecnologia industrial 

SÈRIE 4 

 

Exercici 1  

Q1  c Q2  c Q3  a Q4  a Q5  c 

 

Exercici 2 

a)  

m p e c 

0 0 0 0 

0 0 1 0 

0 1 0 1 

0 1 1 0 

1 0 0 1 

1 0 1 0 

1 1 0 1 

1 1 1 0 

 

b) 𝑐 = (𝑚̅ · 𝑝 · 𝑒̅) + (𝑚 · 𝑝̅ · 𝑒̅) + (𝑚 · 𝑝 · 𝑒̅) 

      𝑐 = 𝑒̅ · (𝑝 + 𝑚) 

 

c)  

 

Exercici 3  

a) 

 

 

b)  ∑ M(O) = 0   →   mg · 2𝐿 = 𝑇AC𝐿   → 𝑇AC = 3923 N   

c)  ∑ Fverticals = 0   →   FV  = mg = 1961 N   

       ∑ Fhoritzontals = 0   →   FH= TAC  →   FH=3923 N    

d)    =
𝑇𝐴𝐶

·𝑑2

4

= 555,0 MPa;   
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Exercici 4 

a)  𝑃aigua = 𝑞 ·  · 𝑔 · ℎ = 21,25 MW  

b)  Psubm = 𝑃acentral
 = 19,77 MW 

c)  Eútil = 𝑃subm · 𝑡 = 158,1 · 106 Wh =  569,1 · 109 J 

d) Eanual = 𝐸útil · 310 = 49,00 · 109 Wh = 176,4 · 1012 J 

ℎ𝑎𝑏𝑖𝑡𝑎𝑡𝑔𝑒𝑠 = 
𝐸anual

𝐸cons
= 14053 habitatges 

 

Exercici 5 

 

a)  𝐸diss = 𝐸bat · (1 − 
motor


red

) = 158,4 kJ 

b)  𝑡màx = 
𝐸bat−𝐸diss

Psubm
= 5126 s = 1,424 h;   𝑠màx= 𝑣·t = 35,60 km  

c)  r = 
𝑣

𝑑/2 
= 19,56 rad/s 

d) motor = 
r

 
= 301,0 rad/s;    =

𝑃sub
red

⁄

motor
= 0,8932 Nm 

 

 

Exercici 6 

a)  Req = 
1

1
𝑅1

+
1

𝑅2

= 35 Ω 

𝐼tot =  
𝑈

𝑅eq
= 6,571 A   

b)  Pelèctr = U·I = 1511 W;  

c)  𝐸cons = 𝑃elèctr · 𝑡 =  9,069 kWh = 32,65 MJ  

d) 𝑐diari = 𝐸cons · 𝑐 = 1,088 € 

 


